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1. A. C

B. P

C. P


D. C


E. C


F. P


G. C

H. P

2. A. SnF2
B. BaSO4
C. Mg(OH)2
D. CsBr

E. NH4HCO3
F. NaHSO4
G. K3PO4
H. Fe2S3
3. A. PdCl2  +  2HNO3  →  Pd(NO3)2 + 2HCl

B. 2K + 2H2O  →  2KOH + H2
4. A. H2 + CuO  →  Cu + H2O


single replacement

B. 16Ag + S8  →  8Ag2S


synthesis

C. C4H8  +  6O2  → 4CO2 + 4H2O

combustion

D. NH3 + HCl  → NH4Cl


synthesis

E. 2Mg + O2  → 2MgO


synthesis

5. A. 3NaOH + Fe(NO3)3  →  3NaNO3 + Fe(OH)3
B. 2Sb + 3Cl2  → 2SbCl3
C. 2Hg + O2  → 2HgO

D. 2Ni2O3  → 4Ni + 3O2 

E. 2Al + 3Zn(NO3)2  →  2Al(NO3)2  +  3Zn

6. Mass number = 56 + 81 = 137

7. Neutrons = 131 – 54 = 77

	Sample
	Molar mass
	Mass of sample
	Amount of substance
	Number of molecules/formula units
	Number of atoms

	NaCl
	58.4
	58.4
	1.00
	6.02 x 1023
	1.20 x 1024

	NH3
	17.04
	24.8
	1.46
	8.76 x 1023
	3.50 x 1024

	H2O
	18.02
	1.58
	0.0877
	5.28 x 1022
	1.58 x 1023

	Mn2O3
	157.88
	10.5
	0.0664
	4.00 x 1022
	2.00 x 1023

	K2CrO4
	194.20
	9.67 x 10-1
	0.00498
	3.00 x 1021
	2.10 x 1022

	C8H8O3
	140.26
	1.84 x 103
	13.1
	7.90 x 1024
	1.50 x 1026

	Al(OH)3
	66.01
	5.64 x 104
	8.54 x 102
	5.14 x 1026
	3.60 x 1027


8. A. mwater = 66.7g

B. mlead(IV) oxide = 335g

C. mbarium chromate = 3.75 x 103g

D. miron(III) oxide = 2.05 x 10-2g

9. A. mxenon = 131g

B. mammonia = 400g

C. moxygen =4.7g

D. mhelium = 0.0411mg

E. mbutane = 6.5mg
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1. A. KBr

B. CaF2
C. MgO

D. Li2O

2. A. O = Si = O

B. Br – O – Br

C. Cl – F

D. F – N – F


|


F

3. A. 3.5 – 1.6 = 1.9 
polar covalent

B. 2.5 – 1.2 = 1.3
polar covalent

C. 3.0 – 1.8 = 1.2
polar covalent

D. 3.5 – 3.0 = 0.5
polar covalent

4. A. neon  - 8e-

B. beryllium – 2e-

C. phosphorous – 5e-

D. iodine – 7e-

E. lithium – 1e-

5. A. 0.172mol/L

B. 0.577mol/L

C. 0.694mol/L

6. A. molecular

B. limiting reagent

C. precipitate

D. hydrocarbon

E. temperature

F. polar

G. hydrogen bond

H. atomic

I. electronegativities

J. coefficients

K. ion

L. empirical

M. synthesis

N. matter


7.  a. 4 moles of iron (III) chloride produces 6 moles of chlorine gas
         4 moles of oxygen produces 8 moles of chlorine gas

 b. Iron (III) chloride is the limiting reactant

 c. Oxygen is the excess reactant

8. a)  15 grams of C2H6 produces 26.9 g of water

           45 g of oxygen produces 21.7 g of water

 b.  Oxygen is the limiting reactant

 c. C2H6 is the excess reactant

